Phys 102-Sec#41—_  Quiz #9 (Ch. 27)
Name: Ky ID #

1- A certain capacitor (initially Wrcharged), is connected in series with a resistor

and a battery. After being charged for 10 ms, the charge on the capacitor is half

of its maximum value. What is the time constant (RC) of the circuit?
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2- In the shown circuit, find the current passing through the 20- Ohm resistor.
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3- Three 20- Ohm resistors are connected in Parallel and the combination is
4’ connected to a 10-V battery.
a) What is the current passmg in any of the res1stors‘7
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b) What is the potential difference across any of the resistors?
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